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AusVels- 9.0:  

Students will be able to express numbers in scientific notation 
Students will be able solve problems involving very small numbers 
Students will be able solve problems involving very big numbers 
 

 

 

Define Scientific Notation 
 

 

Scientific notation is used to express very large and 
very small numbers as:   

(a number between 1 and 10) × 10power  

 

 

It may also be called standard notation or standard 
form. 

 

 

Expressing a Very Small number 

A very small number is expressed to a negative 
power 

 (a number between 1 and 10) × 10 negative 

power  

 

Expressing a Very Big Number 
 

A very small number is expressed to a positive power 
 

(a number between 1 and 10) × 10 positive power
 

Step 1 
(ii) 

Task: 

A piece of dust is 0.000 000 000 753 kg, 
express this number in scientific 
notation. 

Step 1:  
Begin at the decimal point and jump to the right and 
then position the decimal point after the first significant 
digit. This is because the co-efficient must be less than 10. 
 

 

0.000 000 000 753 kg 
 

 

The amount of jumps made indicate 
what the power will be 

Step 2: Count how many jumps you made. 
                                                                 

 

0.000 000 000 753kg 
 

  
 
 
 
 
 
 

Step 3: Re-write the number. 
 

                        7.53 x 10 -10 

 

 

 

Must always be to 

a base 10 

Note: it is to a 

negative power 

http://www.google.com.au/url?sa=i&rct=j&q=maths&source=images&cd=&cad=rja&docid=H-5pKVKXeFxdDM&tbnid=qxJgrhQbWkSE4M:&ved=0CAUQjRw&url=http://www.duxcollege.com.au/hsc-maths-extension-1-tutors-i-29.html&ei=F62hUcmrC8H-lAXCzYDoCg&bvm=bv.47008514,d.dGI&psig=AFQjCNHcs0cA5oQqwNmXBXxleGIF9oispQ&ust=1369636445301877
http://www.craigieburnsc.vic.edu.au/index.php


Best Practice #1 

 

Measurement and Geometry 

6     5     4     3    2     1 

6     5     4     3    2     1 

Step 1 
(iii) 
 

Task: 

A red blood cell is 8.0 x 10-6 metres long. 
What is this as a basic numeral? 

 
 
 
 
 
8.0 x 10-6 
 

 1. Explain that we “jump” to the 
left because the power is 
negative. 

Show that jumping to the right 
would make the number Bigger. 

 
 
 
 
 
8.0 x 10-6 

 
 2. The power indicates how many 

times we need to jump 

 
                        8.0 x 10-6 
 

 3. For each jump– that results in an 
empty space replace with a zero. 

  0  0  0  0 0 0 8.0 x 10-6 

 

 4. Rewrite is 8.0 x 10-6  as a basic 
numeral 

 

A basic numeral is a normal number 
 
A red blood cell is 0.000008 metres long 
 

A negative power indicates the 

number is very small 

 

We jump to the left because the 

power is negative and we start 

jumping from the decimal point. 

 

We jump 6 times because the 

power is 6. When you finish 

jumping ADD a decimal point 

 

Add a zero in front of 

the decimal point 
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Step 1 
(iv) 

Convert   5.792 x 107  to a basic numeral 

 
 
5.792 x 107   

 5. The power indicates how many 
times we need to jump 

A positive power means we move the 
decimal point to the RIGHT 

 
     
 
                               5 .792 x 107   
 
5.7 9 2   

 6. Rewrite is 8.0 x 10-6  as a basic 
numeral 

 

                               5 .792 x 107   
 
5.7 9 2  0 0  0  0 
 
For each jump– that results in an empty replace with 
a zero. When you finish jumping re-position the 
decimal point after the last jump 

Both 5 .792 x 107  and 57920000 have the 
same value but is just shown differently 

 
 

 

Positive powers mean this 

number is BIG number we 

therefore jump top the right 

The amount of times we 

“jump” is dictated by 

the power. Starting at 

the decimal point 
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